SL175 Standing Seam
Wood Substrate Master Details

Architectural / Solid Substrate / Steep Slope

The following details are commonly used over steep sloped applications
including those over solid substrates such as plywood or steel decking
with rigid insulation. Such details are largely based on hydrokinetic
(water shedding) design principles and architectural detailing.

SL175 CLIP

10-13x1" PANCAKE HEAD WOOD
SCREW, 2 PER CLIP

F / SL175 PANEL T

— [ —

Z LN Z
7 = 7
\ SINGLE LAYER OF APPROVED
UNDERLAYMENT
WOOD SUBSTRATE
FAYETTEVILLE, NC SPENCER, NC ANDERSON, SC TIFTON, GA ORANGE, VA
888-685-7663 800-526-8156 800-544-5169 800-962-9131 800-762-6785
OCALA, FL VICKSBURG, MS TIPP CITY, OH OKLAHOMA CITY, OK SCRANTON, PA
800-331-3584 888-661-0577 877-615-9812 866-373-5286 866-695-6455

www.unionmetalroofing.com



SL175 Standing Seam Index

-Wood Substrate-

Panel Information Detail No.
Panel APPlICALION ............uuuueeeieieiiie e setee e st e e se e st a e e sraeaeanes 0.10
System Overview - Panel Profiles...............ccccuuivoioiioiiiiiiiiieiein 0.20
System OVErvIieW = ClDS .........cccoiiueiiiiiiieeee et 0.21
Thermal Gap Installation Chart - Ste€l................ccccovvevicieeeicieeesieees 0.30
Thermal Gap Installation Chart - Aluminum..............cccccoevvveeecvneeenen.. 0.31

Eave Details Detail No.
EXtENAed EQVE ..........oeeeiiieiiieee e 1.10
Extended Eave - Steep SIOPE ........ccccoeeeeeeeeeeeeeeee e 1.10A
Extended Eave With GUILET ..............oooiieiiiiee e 1.20
Extended Eave with Gutter - Steep SIOpe .........cccoooeeioeeicieieeeeee 1.20A
Extended Eave With SOffit .............oouuiiiiiiiieeee e 1.30
Extended Eave with Soffit & GUIEr .............coviooieiieieeeeeeee e 1.40
Extended Eave with Vertical Flush Panel .............cccoocovviiiioiiiininnnns 1.50
Extended Eave with Vertical Standing Seam Panel ................cc........... 1.60
Extended Eave Lap Detail ...............uueeuuuuuuuieeeeiiiieieeiiieeeeiieeeesiea e 1.90

Gable Details Detail No.
Gable - EXtended DIip ...........ccooveeeieieieiieeeeeeeee e 2.10
GADIE = BOX ..t 2.20
Gable - Box With Ze@ CIOSUIE .........cooueeiieiiee e 2.30
Box Gable Lap Detail ............ccooooueeeeeeeeeeeeeeeeee e 2.90

Valley Details Detail No.
Valley - Integral ClEat .................uuueuuuuveiiiiiieiiiiieesieeeesee e sea e saea e 3.10
Valley - OffSEt ClEAL ............uuuueeeieiiiiiiiiiee et 3.20
Valley Lap DELail .............uuuuuueuuieieiiiiiiiiiiieeseieieeeieaeestaaessieaeeeaea e 3.90

Ridge & Hip Details Detail No.
Standard Ridge & HIp .......ooooeeeeeeeeeeeeeeeeeeee e 4.10
Vented RIQE ..........cooo it 4.20
Vented Ridge-to-Standard Ridge Transition ..............ccccccceecoeecceecenne. 4.30
Ridge Termination at Valley ..............cccccoomniiiiiiiiieeeeeeee e 4.40
Ridge & Hip Lap Detail .............cooiieeeeeieeeeeeee e 4.90
Ridge Cap Expansion Detail ..............ccccueuuueieiieiiieesiieeeeeiiiaeeeieaeenes 4.91

Peak Details Detail No.
Peak Detal ... 5.10
Vented Peak Detail ..............ooo oo 5.20
Peak Detail with Vertical FIush Panel ................ccccocevecoieeevsceeeeeenan, 5.40

(Continued...)



SL175 Standing Seam
-Wood Substrate-

Index

High Wall & Low Wall Details Detail No.
High Wall - RegIet ..........coooieeeeiee et 6.10
Vented High Wall - RegIet ..............ooieeieieiiiee et 6.11
High Wall - Surface Mount ................ccccooiioieiiieeieeeeeeeee e 6.12
High Wall - Vertical Panel with Sill .................cccoooiiniiiniiiiiieiiesees 6.14
High Wall - Parapet ............ccooo oot 6.20
Valley Wall DeLail ............ccoouueeeeeiieeeeeeeeee e 6.30
High Wall Lap Detail ..............ccooceuiiiiiiiiiiiieeie e 6.90

Sidewall Details Detail No.
Sidewall - Reglet with Subflashing Angle ............ccccccooviviiiviiencicnaenns 7.11
Sidewall - Surface Mount with Subflashing Angle ............cccccoeeveveiins 7.12
Sidewall - Wood Framing & Siding with Subflashing Angle ................. 7.13
Sidewall - Reglet with J-Channel Subflashing ..............ccccccovcvvveeennn.. 7.21
Sidewall - Surface Mount with J-Channel Subflashing ....................... 7.22
Sidewall - Wood Framing & Siding with J-Channel Subflashing .......... 7.23
Sidewall - Reglet with Zee Closure ................cccooeeevcveeeecceeesee e 7.31
Sidewall - Surface Mount with Zee Closure .............ccccooccoeeeecceneene. 7.32
Sidewall - Wood Framing & Siding with Zee Closure ..............c..cc........ 7.33
Sidewall Expansion Joint ...................cccooie i 7.40
Expansion JOint Mid-ROOF..............cccccceeiiieiiiee e e 7.50
Sidewall Lap Detail .............ccoooee e 7.90

Slope Transition Details Detail No.
SIOPE TranSIitioN .........coooieeeeeeeee et 8.10
Transition at Membrane ROOfING ...........cccceiiiiioiiiiiiiiiee e 8.20

General Information Details Detail No.
Panel HEMIMUNG .........cceeeeeeeeeee ettt 10.10
End Lap Detail - Steep SIOPE .........oovveverereiiiiiieieiieeeeeee e 10.15
Zee Closure INStallation ..................occcoeeeeieioiei e 10.20
Pip€ PENEIIAtioN .........ccovveeeieiiiiiiiiieieieieeee et 10.30
Pipe Penetration Through Panel Rib .............cccccocoveiiiiiiniieniienee, 10.31
Curb at High Wall & Low Wall ... 10.40
Curb at SideWall ...........oooooiiiee e 10.41
Curb Installation Detail ................ooooueeeiieeeeee e CRB 1-6



SL175 CLIP AT REQUIRED INTERVAL FOR PROJECT
SPECIFIC DESIGN REQUIREMENTS

10-13x1" PANCAKE HEAD WOOD
SCREW, 2 PER CLIP

/ SL175 PANEL

\ SINGLE LAYER OF APPROVED
UNDERLAYMENT

WOOD SUBSTRATE

SLI75 APPLICATION SL175-WS-0.10

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



12" to 18"

1-3/4"

el

SL175 CLIP W/ 2
FASTENERS TYP.

Profile Option: Striations (Standard Profile) J / gg;l'_%‘} INSEAM

= = — \7( =
Profile Option: Smooth I‘ ‘ ‘
l:‘ Profile Option: Pencil Ribs (2) J‘ ‘ ‘/ / \\‘ ‘
! == ju( !

l:‘ Profile Option: Bead Ribs (2) J“

e SLI75 SYSTEM OVERVIEW - PANEL PROFILES "SL175-0.20

Substrate: Project Name:

Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



Clip 20
18 Ga. Galvanized
1.875" x 2.25"

21/4"

Clip 22
18 Ga. Stainless Steel
1.875" x 2.25"
Recommended for use with aluminum panels

13/4"

v

Clip 21 UL

18 Ga. Galvanized
1.875" x 3.5"

Clip 23 UL
18 Ga. Stainless Steel
1.875" x 3.5"
Recommended for use with aluminum panels

IMPORTANT INSTALLATION NOTE

o SLi75 CLIPS ALLOW FOR UNLIMITED
THERMAL EXPANSION/CONTRACTION
OF PANELS.

¢ "UL" CLIP TYPES MAY BE REQUIRED TO
MEET SPECIFIC WIND UPLIFT TESTING.

=
=

4" x 5" Bearing Plate
16 Ga. Galvanized
Required for use when clips are applied
directly over rigid board insulation

Description:

SLI75 SYSTEM OVERVIEW - CLIPS

Detail No.:

SL175-0.21

Substrate:

\

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




DRIP EDGE

" OR,
A g8
\\}\\\*\/\ TN

PANEL LEG

mﬁ‘&‘%&w
peh
FIELD FORM HEM / [ THERMAL "GAP" INSTALLATION CHART (In inches) - STEEL |
For determining proper expansion/contraction gap at panel ends during installation
Distance Material Temperature (Surface Temperature) During Installation
o from fixed Hot Warm Cold
A~ = GAP FROM CHART point in feet >100° F 100°to 50° F <50°F
e s o / 70 0.145 178 0.072 716 _ 0.000] 0
20 0.289 5/16 0.145 1/8 0.000{ O
30 0.434 7116 0.217 3/16 0.125 1/8
40 0.579 9/16 0.289 5/16 0.125 1/8
50 0.724 3/4 0.362 3/8 0.188 3/16
60 0.868 7/8 0.434 7/16 0.188 3/16
70 1.013| 1 0.507 1/2 0.250 1/4
80 1.158( 1 3/16 0.579 9/16 0.250 1/4
90 1.302| 1 5/16 0.651 5/8 0.375 3/8
100 1447 1 7/16 0.724 3/4 0.375 3/8
* Chart based on temperature differential of: 180 degrees F
* Coefficient of thermal expansion for steel:  0.0000067
Description: Detail No.:
THERMAL GAP INSTALLATION CHART - STEEL SL175-0.30

Substrate:

\

Project Name:

Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




PANEL LEG

DRIP EDGE

For detet

Distan

from fix
‘A = GAP FROM CHART / pointin-

DURING TIME OF 10
INSTALLATION 20

30
40
50
60
70
80
90
100
* Chart
* Coeffi

" THERMAL GAP INSTALLATION CHART - ALUMINUM ["si175.0.31

Substrate: Project Name:

Location:

\

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



UNION CORRUGATING CO. SL175 PANEL
SL175 CLIP WITH (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS. NOTE:

INSTALL 2 CLIPS AT EAVE TYPICAL
WOOD SUBSTRATE

SINGLE LAYER OF APPROVED

UNDERLAYMENT

STRIP IN DRIP EDGE WITH FIELD
COURSE OF APPROVED UNDERLAYMENT

—=
-
—=

#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 8" O.C. STAGGERED

EEO03 - EXTENDED EAVE DRIP EDGE, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

/
"
>
A

2

CUT BACK VERTICAL PANEL LEGS AND FIELD
FORM PANEL AROUND DRIP EDGE. REFER TO
EAVE EXPANSION DETAIL FOR PROPER
EXPANSION/CONTRACTION GAP

#10-9 X 1" PANCAKE HEAD WOOD SCREW

AT 12" ON CENTER

FA## - FASCIA COVER, 2" END

X
LAPS WITH CONTINUOUS
APPROVED SEALANT AT LAPS

Description: E x T E N D E D E AV E Detail No.:
SL175-WS-1.10
Substrate: Project Name:
WOOD SUBSTRATE Location:
L
Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301




UNION CORRUGATING CO. SL175 PANEL .

SL175 CLIP WITH (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS. 72N
NOTE: INSTALL 2 CLIPS AT EAVE TYPICAL i N

WOOD SUBSTRATE AN
24 ///

SINGLE LAYER OF APPROVED
UNDERLAYMENT

STRIP IN DRIP EDGE WITH FIELD
COURSE OF APPROVED UNDERLAYMENT

#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 8" O.C. STAGGERED

ES03 - EXTENDED EAVE STEEP SLOPE DRIP EDGE, 4" END

LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS '

QO
/X

N
Q\\“ \Q
’\Q‘Q/Q @6

A

CUT BACK VERTICAL PANEL LEGS AND FIELD

FORM PANEL AROUND DRIP EDGE. REFER TO
EAVE EXPANSION DETAIL FOR PROPER
EXPANSION/CONTRACTION GAP
#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 12" ON CENTER

X
FA## - FASCIA COVER, 2" END

LAPS WITH CONTINUOUS
APPROVED SEALANT AT LAPS

e EXTENDED EAVE - STEEP SLOPE "SL175-WS-1.10A
Substrate: WOOD SUBSTRATE fcr:():jae:i:ct):ame:
> 2016-0301

Details and instructions subject to change without notice. Contact Union Corrugating Company for specﬁc project details.



UNION CORRUGATING CO. SL175 PANEL

SL175 CLIP WITH (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS.
NOTE: INSTALL 2 CLIPS AT EAVE TYPICAL

WOOD SUBSTRATE

SINGLE LAYER OF APPROVED
UNDERLAYMENT \ \ \ \ =]

STRIP IN DRIP EDGE WITH FIELD e
COURSE OF APPROVED UNDERLAYMENT = T

#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 8" O.C. STAGGERED

EEO02 - EXTENDED EAVE DRIP EDGE, 4" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS

CUT BACK VERTICAL PANEL LEGS AND FIELD
FORM PANEL AROUND DRIP EDGE. REFER TO
EAVE EXPANSION DETAIL FOR PROPER
EXPANSION/CONTRACTION GAP

3

EXPANSION
2
18 GA. GALVANIZED STEEL HIDDEN
HANGER AT 24" ON CENTER
X
GTO07 - 7" GUTTER, LAP AND SEAL CONTINUOUS
WITH 2 ROWS OF APPROVED SEALANT. RIVET

AT LAPS 2" ON CENTER. /
FA## - FASCIA COVER, 2" END LAPS WITH

CONTINUOUS APPROVED SEALANT AT LAPS

EXTENDED EAVE WITH GUTTER SL175-Ws-1.20

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



SL175 CLIP WITH (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS.
NOTE: INSTALL 2 CLIPS AT EAVE TYPICAL

WOOD SUBSTRATE

SINGLE LAYER OF APPROVED
UNDERLAYMENT

STRIP IN DRIP EDGE WITH FIELD
COURSE OF APPROVED UNDERLAYMENT

#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 8" O.C. STAGGERED

ES02 - EXTENDED EAVE STEEP SLOPE DRIP EDGE, 4" END
LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS

#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 12" ON CENTER

CUT BACK VERTICAL PANEL LEGS AND FIELD
FORM PANEL AROUND DRIP EDGE. REFER TO

EAVE EXPANSION DETAIL FOR PROPER
EXPANSION/CONTRACTION GAP /

18 GA. GALVANIZED STEEL HIDDEN
HANGER AT 24" ON CENTER

GTO07 - 7" GUTTER, LAP AND SEAL CONTINUOUS
WITH 2 ROWS OF APPROVED SEALANT. RIVET
AT LAPS 2" ON CENTER.

FA## - FASCIA COVER, 2" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS

UNION CORRUGATING CO. SL175 PANEL

" EXTENDED EAVE W/ GUTTER- STEEP SLOPE

Detail No.:

SL175-WS-1.20A

Substrate:

WOOD SUBSTRATE

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




UNION CORRUGATING CO. SL175 PANEL

SL175 CLIP WITH (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS.
NOTE: INSTALL 2 CLIPS AT EAVE TYPICAL

WOOD SUBSTRATE

SINGLE LAYER OF APPROVED
UNDERLAYMENT

STRIP IN DRIP EDGE WITH FIELD
COURSE OF APPROVED UNDERLAYMENT

#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 8" O.C. STAGGERED

EEO03 - EXTENDED EAVE DRIP EDGE, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

CUT BACK VERTICAL PANEL LEGS AND FIELD
FORM PANEL AROUND DRIP EDGE. REFER TO
EAVE EXPANSION DETAIL FOR PROPER
EXPANSION/CONTRACTION GAP = =
ERWAL & %’//
B\
2

#10-9 X 1" PANCAKE HEAD WOOD

SCREW AT 8" ON CENTER

FA## - FASCIA COVER, 2" END LAPS WITH

CONTINUOUS APPROVED SEALANT AT LAPS
/ x 7
FCO03 - FASCIA CLEAT WITH SOFFIT RETURN

—

\ JC10 - J-CHANNEL

FL100 SOFFIT

e EXTENDED EAVE WITH SOFFIT

Detail No.:

SL175-WS-1.30

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




UNION CORRUGATING CO. SL175 PANEL

SL175 CLIP WITH (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS.
NOTE: INSTALL 2 CLIPS AT EAVE TYPICAL

WOOD SUBSTRATE

SINGLE LAYER OF APPROVED
UNDERLAYMENT

STRIP IN DRIP EDGE WITH FIELD
COURSE OF APPROVED UNDERLAYMENT

#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 8" O.C. STAGGERED

EEO02 - EXTENDED EAVE DRIP EDGE, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

CUT BACK VERTICAL PANEL LEGS AND FIELD
FORM PANEL AROUND DRIP EDGE. REFER TO
EAVE EXPANSION DETAIL FOR PROPER
EXPANSION/CONTRACTION GAP = =
P f/hf//
THERMAL —%
EXPANSIO
2
18 GA. GALVANIZED STEEL HIDDEN
HANGER AT 24" ON CENTER I
GT07 - 7" GUTTER, LAP AND SEAL CONTINUOUS
WITH 2 ROWS OF APPROVED SEALANT. RIVET X :
AT LAPS 2" ON CENTER. /
—_’)\
FA## - FASCIA COVER, 2" END LAPS WITH J 4€10 - J-CHANNEL

CONTINUOUS APPROVED SEALANT AT LAPS FL100 SOFFIT

FCO03 - FASCIA CLEAT WITH SOFFIT RETURN

" EXTENDED EAVE WITH SOFFIT & GUTTER

Detail No.:

SL175-WS-1.40

Substrate: Project Name:

WOOD SUBSTRATE

Location:
\L

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




SL175 CLIP WITH (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS. NOTE:

INSTALL 2 CLIPS AT EAVE TYPICAL

UNION CORRUGATING CO. SL175 PANEL

WOOD SUBSTRATE
SINGLE LAYER OF APPROVED UNDERLAYMENT

STRIP IN DRIP EDGE WITH FIELD COURSE OF APPROVED UNDERLAYMENT

#10-9 X 1" PANCAKE HEAD WOOD SCREW AT 8" O.C. STAGGERED

==

== '{\f;’
\ \
,.::f’/;;;/
EE03 - EXTENDED EAVE DRIP EDGE, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

A
N
ERMEoN
Tons©
CUT BACK VERTICAL PANEL LEGS AND FIELD

FORM PANEL AROUND DRIP EDGE. REFER TO
EAVE EXPANSION DETAIL FOR PROPER

EXPANSION/CONTRACTION GAP /
#10-9 X 1" PANCAKE HEAD WOOD SCREW

AT 8" ON CENTER

UNION CORRUGATING CO. FL100 PANEL

SL10 - SILL TRIM FASTENED W/ #10-9 X 1" \
PANCAKE HEAD WOOD SCREW \ﬁ:X
Description:

Substrate:

\

—
—-
ot

~

=
-

—

EXTENDED EAVE W/ VERTICAL FLUSH PANEL

WOOD SUBSTRATE
Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

Project Name:
Location:

Detail No.:

SL175-WS-1.50

J/
2016-0301



FORM PANEL AROUND DRIP EDGE. REFER TO

——
——=

UNION CORRUGATING CO. SL175 PANEL = \

STRIP IN DRIP EDGE WITH FIELD COURSE OF APPROVED UNDERLAYMENT ===

#10-9 X 1" PANCAKE HEAD WOOD SCREW AT 8" O.C. STAGGERED \ —

EEO03 - EXTENDED EAVE DRIP EDGE, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

/; SL175 CLIP WITH (2) #10-9 X 1" PANCAKE
2 HEAD WOOD SCREWS. NOTE: INSTALL 2
> CLIPS AT EAVE TYPICAL

MR (5
TN SINGLE LAYER OF APPROVED
er UNDERLAYMENT
CUT BACK VERTICAL PANEL LEGS AND FIELD WOOD SUBSTRATE

EAVE EXPANSION DETAIL FOR PROPER

EXPANSION/CONTRACTION GAP /’{
*CUSTOM J-CHANNEL TRIM /J
#10-9 X 1" PANCAKE HEAD WOOD SCREW

AT 12" ON CENTER

UNION CORRUGATING CO. SL175 PANEL

SL175 CLIP WITH (2) #10-9 X 1" PANCAKE
HEAD WOOD SCREWS

N

1

|

|
=

\\v g

SL12 - SILL TRIM FASTENED W/ #10-9 X 1"
PANCAKE HEAD WOOD SCREW

\

T EXT. EAVE W/ VERTICAL STANDING SEAM PANELS | S!475-ws-1.60
Subetate WOOD SUBSTRATE Project Name:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




NOTCH OUT UPPER AND LOWER
BENDS IN FLASHING TO BE LAPPED

OVERLAP

DOUBLE ROW OF
APPROVED TUBE SEALANT

Pescrpton DRIP EDGE LAP DETAIL

Detail No.:

SL175-1.90

Substrate:

Project Name:
Location:

\
Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS

SINGLE LAYER OF APPROVED
UNDERLAYMENT

#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 8" O.C. STAGGERED

EGO03 - EXTENDED GABLE DRIP EDGE, 4" END LAPS

WITH CONTINUOUS APPROVED SEALANT AT LAPS

COURSE OF APPROVED UNDERLAYMENT

STRIP IN DRIP EDGE WITH FIELD \

WOOD SUBSTRATE

UNION CORRUGATING CO. SL175 PANEL\

(e

A
r—=—

A W Vr——N

A »
|

REMOVE PANEL LEG AND FIELD FORM PANEL
AROUND DRIP EDGE CONTINUOUS (MIN. 3/4")

#

10-9 X 1" PANCAKE FASTENER, 12" O.C.

FA## - FASCIA COVER, 2" END LAPS W/

CONTINUOUS APPROVED SEALANT AT
LAPS

M\W\\\wg

2

U

<SRN

Description:

GABLE DETAIL - EXTENDED DRIP STYLE

Detail No.:

SL175-WS-2.10

Substrate:

\

WOOD SUBSTRATE

Project Name:
Location:

Details and instructions subject to change without notice.

Contact Union Corrugating Company for specific project details.

2016-0301




UNION CORRUGATING CO. SL175 PANEL

WOOD SUBSTRATE

SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS

)

SINGLE LAYER OF APPROVED
UNDERLAYMENT
STRIP IN J-CHANNEL WITH FIELD
COURSE OF APPROVED UNDERLAYMENT
#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 12" O.C.
1/8" X 1/4" STAINLESS RIVET (PAINTED)
AT 18" ON CENTER
SJ20 - J-CHANNEL SUB-FLASHING, 4" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS
BG22 - BOX GABLE TRIM, 4" END LAPS WITH —/
CONTINUOUS APPROVED SEALANT AT LAPS/
CONTINUOUS BEAD OF APPROVED SEALANT — — \ L |

X

A |
A

4
BETWEEN PANEL LEG AND J-CHANNEL (

]
AN

PANEL LEG OR FIELD FORM PANEL LEG
MIN. HEIGHT OF 1 1/4"

#10-9 X 1" PANCAKE FASTENER, 8" O.C.
CLO01 - CONTINUOUS CLEAT

FA## - FASCIA COVER, 2" END LAPS W/
CONTINUOUS APPROVED SEALANT AT
LAPS

X FIELD-CRIMP GABLE LEG
ONTO CLEAT, CONT.

Description:

\\

GABLE DETAI

Substrate:

L - BOX STYLE "SL175-WS-2.20

WOOD SUBSTRATE

Project Name:

Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




UNION CORRUGATING CO. SL175 PANEL
WOOD SUBSTRATE
SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS

SINGLE LAYER OF APPROVED
UNDERLAYMENT

1/8" X 1/4" STAINLESS RIVET (PAINTED)
AT 18" ON CENTER
ZE18 - ZEE CLOSURE, 4" END LAPS WITH CONTINUOUS
APPROVED SEALANT AT LAPS
#10-9 X 1" PANCAKE HEAD WOOD
SCREW AT 8" O.C.
CONTINUOUS ROW OF DOUBLE BEAD
BUTYL TAPE SEALANT \

BG02 - BOX GABLE TRIM, 4" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS

)

Z

N

PANEL LEG OR FIELD FORM PANEL LEG

Nl

2

MIN. HEIGHT OF 1 1/4"

#10-9 X 1" PANCAKE FASTENER, 12" O.C.

CLO01 - CONTINUOUS CLEAT

RS

FA## - FASCIA COVER, 2" END LAPS W/
CONTINUOUS APPROVED SEALANT AT
LAPS

%

IMPORTANT INSTALLATION NOTE

o CONSULT UNION CORRUGATING CO.
WARRANTY DEPARTMENT BEFORE
USING THIS DETAIL WHEN
INSTALLATION REQUIRES
WEATHERTIGHTNESS WARRANTY.

o THIS DETAIL NOT TO BE USED WITH
PANEL LENGTHS GREATER THAN 30'-0".

**"  GABLE DETAIL - BOX STYLE w/ Z-CLOSURE 'SL175-WS-2.30

\

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




4 N\
DOUBLE ROW OF APPROVED
TUBE SEALANT
NOTCH OUT UPPER AND LOWER
HEMS IN FLASHING TO BE LAPPED
OVERLAP
e BOX GABLE LAP DETAIL "1 175-2.90
Substrate: Project Name:
Location:
\L J

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301



WOOD SUBSTRATE

UNION CORRUGATING CO. SL175 PANEL

#10-9 X 1" PANCAKE HEAD WOOD SCREW AT 12" O.C.

STRIP IN VALLEY FLASHING
WITH FIELD COURSE OF APPROVED UNDERLAYMENT

FILL END OF PANEL RIB W/ APPROVED SEALANT
FOLD TAB AROUND RIB FOR CLOSURE

CUT BACK VERTICAL PANEL LEGS AND FIELD FORM PANEL
AROUND OFFSET. REFER TO EAVE EXPANSION DETAIL FOR
PROPER EXPANSION/CONTRACTION GAP

SINGLE LAYER OF APPROVED
UNDERLAYMENT

VB1A - INTEGRAL VALLEY FLASHING, 12" END LAPS
WITH 2 ROWS OF APPROVED SEALANT AT LAPS

-4
—=
—=
——

IMPORTANT INSTALLATION NOTE
EACH VALLEY SECTION IS MADE
PROGRESSIVELY SMALLER TO ALLOW
UPPER SECTION TO INSERT INTO LOWER
SECTION. NO FIELD NOTCHING AT LAP.

peeemien VALLEY DETAIL - INTEGRAL CLEAT "SL175-WS-3.10
Sebsrae WOOD SUBSTRATE rrofee Name:

\

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



STRIP IN VALLEY FLASHING WITH FIELD COURSE OF APPROVED UNDERLAYMENT

CUT BACK VERTICAL PANEL LEGS AND FIELD FORM PANEL
AROUND OFFSET. REFER TO EAVE EXPANSION DETAIL FOR
PROPER EXPANSION/CONTRACTION GAP

UNION CORRUGATING CO. SL175 PANEL

WOOD SUBSTRATE

#10-9 X 1" PANCAKE HEAD WOOD SCREW AT 8" O.C.

0C01 - CONTINUOUS 24 GAUGE OFFSET CLEAT SET IN
CONTINUOUS 3/16" X 7/8" BUTYL TAPE SEALANT

FILL END OF PANEL RIB W/ APPROVED SEALANT
FOLD TAB AROUND RIB FOR CLOSURE

SINGLE LAYER OF APPROVED
UNDERLAYMENT

VAO01 - VALLEY FLASHING, 12" END LAPS WITH 2
ROWS OF APPROVED SEALANT AT LAPS

IMPORTANT INSTALLATION NOTE

CONSULT UNION CORRUGATING CO.
WARRANTY DEPARTMENT BEFORE USING
THIS DETAIL WHEN INSTALLATION
REQUIRES WEATHERTIGHTNESS WARRANTY.

Description:

VALLEY - WITH OFFSET CLEAT

Detail No.:

SL175-WS-3.20

Substrate:

\\

WOOD SUBSTRATE

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specﬁc project details.

2016-0301




DOUBLE ROW OF APPROVED TUBE SEALANT

FASTEN VALLEY AT TOP END UNDER LAP

IMPORTANT INSTALLATION NOTE
EACH VALLEY SECTION IS MADE
PROGRESSIVELY SMALLER TO ALLOW
UPPER SECTION TO INSERT INTO LOWER
SECTION. NO FIELD NOTCHING AT LAP.

TELESCOPING VALLEY FLASHING LAP

Description:

VALLEY LAP DETAIL

Detail No.:

SL175-3.90

Substrate:

\

Project Name:

Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specﬁc project details.

2016-0301




ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS

CONTINUOUS BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS

#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER ZEE OR 3" ON CENTER

3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE

RCO05 - RIDGE CAP, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

SINGLE LAYER OF APPROVED
UNDERLAYMENT

WOOD SUBSTRATE

1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED)
AT 18" ON CENTER

UNION CORRUGATING CO. SL175 PANEL

SL175 CLIP W/ (2) #10-9 X 1"
PANCAKE HEAD WOOD SCREWS

pescrpton HIP AND RIDGE DETAIL

Detail No.:

SL175-WS-4.10

Subsrete WOOD SUBSTRATE

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

CONTINUOUS BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS

#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER ZEE OR 3" ON CENTER

3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE

VRO07 - VENTED PROFILE RIDGE CAP, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

PCO01 - CONTINUOUS 20 GA. GALVANIZED PERFORATED VENT CLEAT
RIVET TO ZEE CLOSURE @ 18" O.C.

ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS

UNION CORRUGATING CO. SL175 PANEL

SINGLE LAYER OF APPROVED
UNDERLAYMENT

WOOD SUBSTRATE

SL175 CLIP W/ (2) #10-9 X 1"
PANCAKE HEAD WOOD SCREWS

VENTED RIDGE DETAIL

Detail No.:

SL175-WS-4.20

Subsrete WOOD SUBSTRATE

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




N || e/

K&y
—

74 AN

\— VENTED RIDGE
STANDARD RIDGE/HIP

It

VENTED RIDGE CAP

PLAN VIEW APPROVED SEALANT AT PEAK INTERSECTION

J FIELD FORM 1" BOXED ENDS ON
VENTED RIDGE CAP

FIELD FORM MIN. 3/4" TABS ON STANDARD RIDGE CAP
AND TUCK UNDER VENTED RIDGE CAP. CONTINUOUS

CAULK AT LAP
PAINTED POP RIVET. CAULK RIVET HEAD

STANDARD RIDGE CAP

UNION CORRUGATING CO. PANEL \

ZEE CLOSURE SET IN CONTINUOUS BEAD OF
SEALANT, CUT TO FIT BETWEEN PANEL RIBS

- STANDARD TO VENTED RIDGE TRANSITION 'SL175-4.30

Substrate: Project Name:

Location:

\

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



RIDGE CAP TABS TO BE FIELD CUT AND
FORMED ONTO INTERSECTING ROOF PLANE.
TUCK TABS INTO VALLEY OFFSET HEM
7/
UNION CORRUGATING CO. PANELS

//

CONTINUOUS BEAD OF
SEALANT AT RIDGE CAP

RIDGE CAP

\

!

!
\

\
\

\
!
| |
!

Tz N\ | VALLEYFLASHINdF

:

|
\

\
\

\
\

\
!

\
\

!
\

\
\

HEM PANEL ENDS AROUND
VALLEY OFFSET HEM |

N

RIDGE CAP, TUCK TABS INTO VALLEY
OFFSET HEM 1"

CONTINUOUS BEAD OF SEALANT AT END
OF RIDGE CAP

ZEE CLOSURE, TAPERED TO
ROOF SLOPE

VALLEY FLASHING

CONTINUOUS BEAD OF SEALANT UNDER
ZEE CLOSURE

UNION CORRUGATING CO. PANEL, HEMMED
AROUND VALLEY OFFSET

SECTION A-A
O

Description:

RIDGE TERMINATION @ VALLEY

Detail No.:

SL175-4.40

Substrate:

\

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




IMPORTANT INSTALLATION NOTE

REFER TO HIP/RIDGE CAP EXPANSION DETAIL
FOR HIP/RIDGE LENGTHS OVER 40'-0".

OVERLAP

NOTCH OUT HEMS IN RIDGE
CAP TO BE LAPPED

POP RIVETS AT LAP

2 ROWS OF APPROVED
TUBE SEALANT EACH SIDE

.

Description:

HIP & RIDGE CAP LAP DETAIL

Detail No.:

SL175-4.90

Substrate:

Location:

Project Name:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




STEP 1
IMPORTANT INSTALLATION NOTE
USE AT EVERY 400" OF CONTINUOUS RIDGE.
DO NOT POP RIVET LAPPED FLASHING.
2 ROWS OF
APPROVED TUBE

NOTCH OUT HEMS SEALANT EACH SIDE
IN RIDGE CAP TO

ALLOW 4" LAP

NOTCH OUT HEMS
2" TO ALLOW
EXPANSION

FIELD FORM COVER
PLATE HEM AROUND
LAPPED RIDGE CAPS

2 ROWS OF TUBE

SEALANT EACH SIDE LINE OF OVERLAP

FIELD FORM COVER
PLATE HEM AROUND
LAPPED RIDGE CAPS

STEP 3

HIP & RIDGE CAP EXPANSION SL1754.91

Substrate: Project Name:

Location:
.

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



PK55 - PEAK FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS

3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE
#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER ZEE OR 3" ON CENTER

CONTINUOUS BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS
ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS
1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

SL175 CLIP W/ (2) #10-9 X 1"
PANCAKE HEAD WOOD SCREWS

UNION CORRUGATING CO. SL175 PANEL

SINGLE LAYER OF APPROVED
UNDERLAYMENT

——=
=
—-

WOOD SUBSTRATE

——
——=
—

Description:

N

PC55 - CONTINUOUS
/_ CLEAT (MIN. 24 GA.

GALVANIZED STEEL)

#10-9 X 1" PANCAKE
/_ HEAD WOOD SCREW

AT 8" ON CENTER

FA## - FASCIA
COVER, 2" END LAPS
WITH CONTINUOUS
APPROVED SEALANT
AT LAPS

PEAK DETAIL

Detail No.:

SL175-WS-5.10

WOOD SUBSTRATE

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

Project Name:
Location:

2016-0301




PV85 - VENTED PEAK FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED

SEALANT AT LAPS
PCO01 - CONTINUOUS 20 GA. GALVANIZED PERFORATED VENT CLEAT RIVET TO

ZEE CLOSURE @ 18" O.C.
3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE

#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER
ZEE OR 3" ON CENTER

ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS WITH
CONT. BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS

1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD
WOOD SCREWS

UNION CORRUGATING CO. SL175 PANEL

-
SINGLE LAYER OF APPROVED
UNDERLAYMENT ]
T

WOOD SUBSTRATE

-
—
-
—-
=
—-
—

Description:

AIR FLOW

PC85 - CONTINUOUS
/_ CLEAT (MIN. 24 GA.

GALVANIZED STEEL)

#10-9 X 1" PANCAKE
/ HEAD WOOD SCREW
AT 8" ON CENTER

il

FA## - FASCIA
| 3¢ COVER, 2" END LAPS
WITH CONTINUOUS

APPROVED SEALANT
AT LAPS

VENTED PEAK DETAIL

Detail No.:

SL175-WS-5.20

WOOD SUBSTRATE

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

Project Name:
Location:

2016-0301




PK55 - PEAK FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS
3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE

#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER ZEE OR 3" ON CENTER

CONTINUOUS BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS

ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS

1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

SL175 CLIP W/ (2) #10-9 X 1"
PANCAKE HEAD WOOD SCREWS

UNION CORRUGATING CO. SL175 PANEL

SINGLE LAYER OF APPROVED
UNDERLAYMENT
WOOD SUBSTRATE

PC55 - CONTINUOUS
/_ CLEAT (MIN. 24 GA.
GALVANIZED STEEL)

#12-14 X 1" PANCAKE
/_ HEAD SELF-DRILLING

SCREW AT 8" ON

CENTER
FL100 - FLUSH METAL
o WALL PANEL

SAW N

PEAK DETAIL - WITH WALL PANELS
B SL175-WS-5.40
Substrate: Project Name:
WOOD SUBSTRATE Location:
\
Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




MASONRY THRU-WALL FLASHING WITH WEEP HOLES

CONTINUOUS BEAD OF APPROVED SEALANT IN REGLET CUT

MASONRY ANCHOR @ 18" O.C.

RF40 - REGLET FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS

HWO02 - HIGHWALL COUNTER FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS
3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE

#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER ZEE OR 3" ON CENTER

CONTINUOUS BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS

ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS

1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

SL175 CLIP W/ (2) #10-9 X 1"
PANCAKE HEAD WOOD SCREWS

UNION CORRUGATING CO. SL175 PANEL

SINGLE LAYER OF APPROVED
UNDERLAYMENT

WOOD SUBSTRATE

——=
~
o

—=
—
-
——

\

T HIGHWALL DETAIL - REGLET

Detail No.:

SL175-WS-6.10

Substrate:

WOOD SUBSTRATE

Location:

Project Name:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




MASONRY THRU-WALL FLASHING WITH WEEP HOLES
CONTINUOUS BEAD OF APPROVED SEALANT IN REGLET CUT

MASONRY ANCHOR AT 18" O.C.
RF40 - REGLET FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS

VHO01 - VENTED HIGHWALL COUNTER FLASHING, 4" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS

3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE
#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER ZEE OR 3" ON CENTER

ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS WITH
CONT. BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS

1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

PCO01 - CONTINUOUS 20 GA. GALVANIZED PERFORATED VENT CLEAT.
RIVET TO ZEE CLOSURE @ 18" O.C.

SL175 CLIP W/ (2) #10-9 X 1"
PANCAKE HEAD WOOD SCREWS

UNION CORRUGATING CO. SL175 PANEL <~
SINGLE LAYER OF APPROVED ‘
UNDERLAYMENT

WOOD SUBSTRATE

1" MIN

e VENTED HIGHWALL DETAIL - REGLET

Detail No.:

SL175-WS-6.11

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




CONTINUOUS BEAD OF APPROVED SEALANT

MASONRY ANCHOR AT 18" O.C.

SM55 - SURFACE MOUNTED COUNTER FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS

HWO02 - HIGHWALL COUNTER FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS
3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE

#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER ZEE OR 3" ON CENTER
CONTINUOUS BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS
ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS
1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS

UNION CORRUGATING CO. SL175 PANEL

SINGLE LAYER OF APPROVED UNDERLAYMENT

=
—-
~
-
-
-
=

WOOD SUBSTRATE

-
~
-
-
-
=
—-

—=
o
—
—=
=
—-
—

<

e HIGHWALL DETAIL - SURFACE MOUNT

Detail No.:

SL175-WS-6.12

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




#10-9 X 1" PANCAKE HEAD WOOD SCREW AT 8" ON CENTER
UNION CORRUGATING CO. FL100 WALL PANEL

SL10 - SILL TRIM FASTENED W/ #10-9 X 1" PANCAKE HEAD WOOD SCREW

HWO01 - HIGHWALL COUNTER FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED
SEALANT AT LAPS

3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE

#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER ZEE OR 3" ON CENTER
CONTINUOUS BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS

ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS

1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

SL175 CLIP W/ (2) #10-9 X 1"
PANCAKE HEAD WOOD SCREWS

UNION CORRUGATING CO. SL175 PANEL ==

-
=
-
—

SINGLE LAYER OF APPROVED—  \ \ === -
UNDERLAYMENT '\  \ ===

////// MR-
WOOD SUBSTRATE—  \  \ Y _—=" ‘é\g\ ;\\45\0“

" _HIGHWALL DETAIL - WALL PANEL W/ SILL SL175-Ws-6.14

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



CONTINUOUS BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS
ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS

1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS

UNION CORRUGATING CO. SL175 PANEL

SINGLE LAYER OF APPROVED UNDERLAYMENT

WOOD SUBSTRATE e

MEMBRANE ROOFING SYSTEM. EXTEND OVER PARAPET AND DOWN FACE OF WALL MINIMUM 3"

COPING SYSTEM WITH CONTINUOUS CLEAT (MIN. 24 GAUGE) FASTENED AT 8" ON CENTER AT CLEAT AND
24" ON CENTER AT REAR. INSTALL WITH 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS.

HWO02 - HIGHWALL COUNTER FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS

3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE

#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER ZEE OR 3" ON CENTER

o
——=
=
—-

——=
=
-
-
=
—=

_/

e HIGHWALL DETAIL - PARAPET COPING

Detail No.:

SL175-WS-6.20

Substrate:

WOOD SUBSTRATE

Project Name:

Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




FILL END OF PANEL RIB W/ APPROVED SEALANT FOLD TAB AROUND 0

RIB FOR CLOSURE | ——

LWO01 - LOW WALL FLASHING, 12" END LAPS WITH 2 ROWS OF
APPROVED SEALANT AT LAPS

CUT BACK VERTICAL PANEL LEGS AND FIELD FORM PANEL 0\
AROUND OFFSET. REFER TO EAVE EXPANSION DETAIL FOR
PROPER EXPANSION/CONTRACTION GAP IMPORTANT INSTALLATION NOTE
LOW WALL FLASHING MUST BE ANGLED
#10-9 X 1" PANCAKE HEAD WOOD SCREW AT 8" O.C. TO PROVIDE POSITIVE DRAINAGE OR NOT
0C01 - CONTINUOUS 24 GAUGE OFFSET CLEAT SET IN MORE THAN 36" WIDE WHEN INSTALLED

CONTINUOUS 3/16" X 7/8" BUTYL TAPE SEALANT PERPENDICULAR TO SLOPE (SEE 'A’).

STRIP IN LOW WALL FLASHING WITH FIELD COURSE
OF APPROVED UNDERLAYMENT

UNION CORRUGATING CO. SL175 PANEL

SL175 CLIP WITH (2) #10-9 X 1" PANCAKE
HEAD WOOD SCREWS

SINGLE LAYER OF APPROVED
UNDERLAYMENT

WOOD SUBSTRATE

.
_
i

VALLEY WALL DETAIL SL175-WS-6.30

Substrate: Project Name:

WOOD SUBSTRATE

Location:

\\ —
Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



NOTCH OUT HEM IN
FLASHING TO BE LAPPED

|
»
j
|

»

IS

DOUBLE ROW OF
APPROVED TUBE
SEALANT

OVERLAP

POP RIVETS AT LAP

Detail No.:

HIGHWALL LAP DETAIL SL175-6.90

Substrate: Project Name:

Location:

&
2016-0301

Details and instructions subject to change without notice. Contact Union Corrugating Company for specﬁc project details.



MASONRY THRU-WALL FLASHING WITH WEEP HOLES

CONTINUOUS BEAD OF APPROVED SEALANT IN REGLET CUT
RF40 - REGLET FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS
FA10 - SIDEWALL COUNTER FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT
MASONRY ANCHOR AT 18" CI)_PéPS

CONTINUOUS ROW OF APPROVED SEALANT BOTH SIDES OF PANEL LEG
BETWEEN PANEL LEG AND FLASHINGS

PANEL LEG OR FIELD FORM PANEL LEG (MIN. 1-1/4")

SA01 - CONTINUOUS SUB-FLASHING ANGLE, 4" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS

STRIP IN J-CHANNEL SUB-FLASHING WITH FIELD
COURSES OF APPROVED UNDERLAYMENT

UNION CORRUGATING CO. SL175 PANEL

SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS
SINGLE LAYER OF APPROVED
UNDERLAYMENT
WOOD SUBSTRATE 0

»

\ ‘ﬂ@- _ —

6" MIN.

| :
| %

SN

e SIDEWALL DETAIL - REGLET

Detail No.:

SL175-WS-7.11

WOOD SUBSTRATE Location:

Substrate: Project Name:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




CONTINUOUS BEAD OF APPROVED SEALANT
MASONRY ANCHOR AT 18" ON CENTER

SM55 - SURFACE MOUNTED COUNTER FLASHING, 4" END
LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS

FA10 - SIDEWALL COUNTER FLASHING 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

CONTINUOUS ROW OF APPROVED SEALANT BOTH SIDES OF
PANEL LEG BETWEEN PANEL LEG AND FLASHINGS

PANEL LEG OR FIELD FORM PANEL LEG (MIN. 1-1/4")

T\

SA01 - CONTINUOUS SUB-FLASHING ANGLE, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

STRIP IN SUB-FLASHING WITH FIELD COURSES OF 2 >
APPROVED UNDERLAYMENT
UNION CORRUGATING CO. SL175 PANEL =<
SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS
SINGLE LAYER OF APPROVED =
UNDERLAYMENT £ =
WOOD SUBSTRATE ©
A | I —— —— ‘_\_T‘ =)
| 2 :
: . ? .
Description: Detail No.:
SIDEWALL DETAIL - SURFACE MOUNT SL175-WS-7.12
Substrate: Project N :
o WOOD SUBSTRATE oot
\
2016-0301

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.




LAP SIDING

FA10 - SIDEWALL COUNTER FLASHING 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

CONTINUOUS ROW OF APPROVED SEALANT BOTH SIDES OF

PANEL LEG BETWEEN PANEL LEG AND FLASHINGS

S

PANEL LEG OR FIELD FORM PANEL LEG (MIN. 1-1/4")
SA01 - CONTINUOUS SUB-FLASHING ANGLE, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS
STRIP IN SUB-FLASHING WITH FIELD COURSES OF
APPROVED UNDERLAYMENT
UNION CORRUGATING CO. SL175 PANEL
SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS
SINGLE LAYER OF APPROVED
UNDERLAYMENT
WOOD SUBSTRATE \‘
A |

e Va===N L — ——\

6" MIN.

<4444
Y
SN

" SIDEWALL DETAIL - WOOD FRAMING & SIDING

Detail No.:

SL175-WS-7.13

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




MASONRY THRU-WALL FLASHING WITH WEEP HOLES
CONTINUOUS BEAD OF APPROVED SEALANT IN REGLET CUT

PANEL LEG OR FIELD FORM LEG (MIN. 1-1/4")
SJ20 - J-CHANNEL SUB-FLASHING, 4" END LAPS WITH CONTINUOUS

APPROVED SEALANT AT LAPS
STRIP IN J-CHANNEL SUB-FLASHING WITH FIELD COURSES OF
APPROVED UNDERLAYMENT
UNION CORRUGATING CO. SL175 PANEL
SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS
SINGLE LAYER OF APPROVED
UNDERLAYMENT
WOOD SUBSTRATE J

RF40 - REGLET FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS
MASONRY ANCHOR AT 18" O.C.
SW12 - SIDEWALL COUNTER FLASHING, 4" END LAPS WITH CONTINUOUS
APPROVED SEALANT AT LAPS
CONTINUOUS ROW OF APPROVED SEALANT BETWEEN PANEL LEG
AND J-CHANNEL SUB-FLASHING
CONTINUOUS BEAD OF APPROVED SEALANT BETWEEN COUNTER
FLASHING AND J-CHANNEL SUB-FLASHING
1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

z
=
= E
i 2 2 |
SIDEWALL DETAIL - REGLET "SL175-WS-7.21
Substrate: WOOD SUBSTRATE f;c;jae:i:ct):ame:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS
SINGLE LAYER OF APPROVED
UNDERLAYMENT
WOOD SUBSTRATE \ J

CONTINUOUS BEAD OF APPROVED SEALANT
MASONRY ANCHOR AT 18" ON CENTER
SM55 - SURFACE MOUNTED COUNTER FLASHING, 4" END
LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS
SW12 - SIDEWALL COUNTER FLASHING, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS
CONTINUOUS ROW OF APPROVED SEALANT BETWEEN PANEL LEG
AND J-CHANNEL SUB-FLASHING
CONTINUOUS BEAD OF APPROVED SEALANT BETWEEN =
COUNTER FLASHING AND J-CHANNEL SUB-FLASHING
1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER Tas .,
PANEL LEG OR FIELD FORM LEG (MIN. 1-1/4")
SJ20 - J-CHANNEL SUB-FLASHING, 4" END LAPS WITH CONTINUOUS
APPROVED SEALANT AT LAPS
STRIP IN J-CHANNEL SUB-FLASHING WITH FIELD COURSES OF
APPROVED UNDERLAYMENT
UNION CORRUGATING CO. SL175 PANEL L

6" MIN.

H@%A/A

i
[
I
s
[

<Y

<IN

e SIDEWALL DETAIL - SURFACE MOUNT

Detail No.:

SL175-WS-7.22

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




LAP SIDING

SW12 - SIDEWALL COUNTER FLASHING, 4" END LAPS WITH CONTINUOUS
APPROVED SEALANT AT LAPS

CONTINUOUS ROW OF APPROVED SEALANT BETWEEN PANEL LEG AND
J-CHANNEL SUB-FLASHING

CONTINUOUS BEAD OF APPROVED SEALANT BETWEEN COUNTER FLASHING AND
J-CHANNEL SUB-FLASHING

1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED) AT 18" ON CENTER

PANEL LEG OR FIELD FORM LEG (MIN. 1-1/4")

SJ20 - J-CHANNEL SUBFLASHING, 4" END LAPS WITH CONTINUOUS
APPROVED SEALANT AT LAPS

STRIP IN J-CHANNEL SUB-FLASHING WITH FIELD COURSES OF

APPROVED UNDERLAYMENT

UNION CORRUGATING CO. SL175 PANEL
SL175 CLIP W/ (2) #10-9 X 1" PANCAKE HEAD WOOD SCREWS
SINGLE LAYER OF APPROVED UNDERLAYMENT
WOOD SUBSTRATE

6" MIN.

\

" SIDEWALL DETAIL - WOOD FRAMING & SIDING

Detail No.:

SL175-WS-7.23

Substrate: Project Name:

WOOD SUBSTRATE

Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




MASONRY THRU-WALL FLASHING WITH WEEP HOLES

CONTINUOUS BEAD OF APPROVED SEALANT IN REGLET CUT

MASONRY ANCHOR AT 18" O.C.

RF40 - REGLET FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS

SW02 - SIDEWALL FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS

PANEL LEG OR FIELD FORM PANEL LEG (MIN. 1-1/4")

1/8" X 1/4" STAINLESS STEEL RIVET @ 18" O.C.

ZE18 - ZEE CLOSURE FASTENED WITH #10-9 X 1
PANCAKE HEAD SCREW

CONTINUOUS ROW OF BUTYL TAPE
UNION CORRUGATING CO. SL175 PANEL
SINGLE LAYER OF APPROVED UNDERLAYMENT
SL175 CLIP W/ (2) #10-9 X 1" PANCAKE
HEAD WOOD SCREWS
WOOD SUBSTRATE \ /
e A

IMPORTANT INSTALLATION NOTE Z

o CONSULT UNION CORRUGATING CO. g
WARRANTY DEPARTMENT BEFORE )4 ;
USING THIS DETAIL WHEN *
INSTALLATION REQUIRES
WEATHERTIGHTNESS WARRANTY.

6" MIN.

o THIS DETAIL NOT TO BE USED WITH
PANEL LENGTHS GREATER THAN 30'-0".

SIDEWALL W/ ZEE DETAIL - REGLET SL175-WS-7.31

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



PANCAKE HEAD SCREW

CONTINUOUS ROW OF BUTYL TAPE
UNION CORRUGATING CO. SL175 PANEL
SINGLE LAYER OF APPROVED
UNDERLAYMENT
WOOD SUBSTRATE
SL175 CLIP W/ (2) #10-9 X 1" PANCAKE
HEAD WOOD SCREWS N\‘
Vo Nl
= g

IMPORTANT INSTALLATION NOTE Z

o CONSULT UNION CORRUGATING CO. 7 -
WARRANTY DEPARTMENT BEFORE
USING THIS DETAIL WHEN
INSTALLATION REQUIRES
WEATHERTIGHTNESS WARRANTY.

CONTINUOUS BEAD OF APPROVED SEALANT
MASONRY ANCHOR AT 18" ON CENTER

SM55 - SURFACE MOUNTED COUNTER FLASHING, 4" END

LAPS WITH CONTINUOUS APPROVED SEALANT AT LAPS
SW02 - SIDEWALL FLASHING, 4" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS

PANEL LEG OR FIELD FORM PANEL LEG (MIN. 1-1/4") Z
1/8" X 1/4" STAINLESS STEEL RIVET @ 18" O.C.
ZE18 - ZEE CLOSURE FASTENED WITH #10-9 X 1

6" MIN.

o THIS DETAIL NOT TO BE USED WITH
PANEL LENGTHS GREATER THAN 30'-0".

» SIDEWALL W/ ZEE DETAIL - SURFACE MOUNT  |’&%75:ws7.32

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specﬁc project details. 2016-0301



IMPORTANT INSTALLATION NOTE

ZE18 - ZEE CLOSURE FASTENED WITH #10-9 X 1"

UNION CORRUGATING CO. SL175 PANEL

SL175 CLIP W/ (2) #10-9 X 1" PANCAKE

o CONSULT UNION CORRUGATING CO.
WARRANTY DEPARTMENT BEFORE
USING THIS DETAIL WHEN
INSTALLATION REQUIRES
WEATHERTIGHTNESS WARRANTY.

o THIS DETAIL NOT TO BE USED WITH
PANEL LENGTHS GREATER THAN 30'-0".

LAP SIDING

SW02 - SIDEWALL FLASHING, 4" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS

PANEL LEG OR FIELD FORM PANEL LEG (MIN. 1-1/4")

1/8" X 1/4" STAINLESS STEEL RIVET @ 18" O.C.

PANCAKE HEAD SCREW
CONTINUOUS ROW OF BUTYL TAPE

SINGLE LAYER OF APPROVED
UNDERLAYMENT

WOOD SUBSTRATE

HEAD WOOD SCREWS

6" MIN.

SN

Description:

SIDEWALL W/ ZEE - WOOD FRAMING & SIDING

Detail No.:

SL175-WS-7.33

Substrate:

\

Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact

Union Corrugating Company for specific project details.

2016-0301




MASONRY THRU-WALL FLASHING WITH WEEP HOLES

CONTINUOUS BEAD OF APPROVED SEALANT IN REGLET CUT i i i i

RF40 - REGLET FLASHING, 4" END LAPS WITH CONTINUOUS APPROVED —
SEALANT AT LAPS
MASONRY ANCHOR AT 18" O.C.
EJ11 - EXPANSION JOINT FLASHING, 4" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS
SJ20 - J-CHANNEL SUB-FLASHING, 4" END LAPS WITH CONTINUOUS
APPROVED SEALANT AT LAPS y

STRIP IN J-CHANNEL SUB-FLASHING WITH FIELD COURSES OF

APPROVED UNDERLAYMENT

SINGLE LAYER OF APPROVED UNDERLAYMENT

UNION CORRUGATING CO. SL175 PANEL
WOOD SUBSTRATE
JE.G. EG. EG. EG
SL175 CLIP W/ (2) #10-9 X 1" PANCAKE =11 71
HEAD WOOD SCREWS \ f
L\ = 774

6" MIN

== A /

7 7

=%
523 7 7 7

7 —+F

7 7/ 7/ o, a

Z

CONTINUOUS BEAD OF APPROVED SEALANT BETWEEN
COUNTER FLASHING AND J-CHANNEL SUB-FLASHING E.G. (EXP. GAP)

NI

CONTINUOUS ROW OF APPROVED SEALANT BETWEEN PANEL LEG
AND J-CHANNEL SUB-FLASHING

PANEL LEG OR FIELD FORM LEG (MIN. 1-1/4")

Detail No.:

e SIDEWALL EXPANSION JOINT DETAIL SL175-WS-7.40

Project Name:

Substrate: WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




yu— X ' 4 D
&)

WOOD SUBSTRATE
L /

I— “’\

14

EJ21 - EXPANSION JOINT FLASHING, 4" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS
$J20 - J-CHANNEL SUB-FLASHING, 4" END LAPS WITH
CONTINUOUS APPROVED SEALANT AT LAPS
CONTINUOUS ROW OF APPROVED SEALANT BETWEEN
PANEL LEG OR FIELD FORM LEG (MIN. 1-1/4") PANEL LEG AND J-CHANNEL SUB-FLASHING
1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED)
AT 18" ON CENTER
SINGLE LAYER OF APPROVED
STRIP IN J-CHANNEL SUB-FLASHING WITH FIELD UNDERLAYMENT
COURSES OF APPROVED UNDERLAYMENT E.G/ EG EG.,
/ W #10-9 X 1" PANCAKE HEAD WOOD
UNION CORRUGATING CO. SL175 PANEL SCREW AT 20" O.C.

1~

—

<y
PR L

E.G/ (EXP. GAP)

EXPANSION JOINT (MID-ROOF) SL175-WS-7.50

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



OVERLAP

POP RIVET AT LAP

~

TO BE LAPPED

~
X

NOTCH OUT HEM IN FLASHING

~
~

DOUBLE ROW OF
APPROVED TUBE SEALANT

SIDEWALL LAP DETAIL

Detail No.:

SL175-7.90

Substrate:

\

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




UNION CORRUGATING CO. SL175 PANEL

STRIP IN SLOPE TRANSITION FLASHING WITH FIELD COURSE OF
APPROVED UNDERLAYMENT

#10-9 X 1" PANCAKE HEAD WOOD SCREW AT 8" O.C.

0C01 - CONTINUOUS 24 GAUGE OFFSET CLEAT SET IN CONTINUOUS 3/16" X 7/8"
BUTYL TAPE SEALANT

FILL END OF PANEL RIB W/ APPROVED SEALANT FOLD TAB AROUND RIB
FOR CLOSURE

ST01 - SLOPE TRANSITION FLASHING, 4" END LAPS WITH CONTINUOUS
APPROVED SEALANT AT LAPS

3/16" X 7/8" BEAD BUTYL TAPE SEALANT CONTINUOUS UNDER ZEE CLOSURE

#10-9 X 1" PANCAKE HEAD WOOD SCREW, INSTALL MIN. 4 PER
ZEE OR 3" ON CENTER

ZE18 - ZEE CLOSURE, FIELD CUT TO FIT BETWEEN PANEL RIBS W/ CONT.
BEAD OF APPROVED SEALANT ADJACENT TO PANEL RIBS

1/8" X 1/4" STAINLESS STEEL RIVET (PAINTED)
AT 18" ON CENTER

SINGLE LAYER OF APPROVED UNDERLAYMENT

WOOD SUBSTRATE

A

‘%

?/’/

"}/

/

CUT BACK VERTICAL PANEL LEGS AND
FIELD FORM PANEL AROUND OFFSET.
REFER TO EAVE EXPANSION DETAIL FOR
PROPER EXPANSION/CONTRACTION GAP

\

SLOPE TRANSITION DETAIL

Detail No.:

SL175-WS-8.10

Substrate:

WOOD SUBSTRATE

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




WOOD SUBSTRATE

UNION CORRUGATING CO. SL175 PANEL
#10-9 X 1" PANCAKE HEAD WOOD SCREW AT 12" O.C.

STRIP IN TRANSITION FLASHING WITH FIELD
COURSE OF APPROVED UNDERLAYMENT

FILL END OF PANEL RIB W/ APPROVED SEALANT
FOLD TAB AROUND RIB FOR CLOSURE

CUT BACK VERTICAL PANEL LEGS AND FIELD FORM PANEL
AROUND OFFSET. REFER TO EAVE EXPANSION DETAIL FOR
PROPER EXPANSION/CONTRACTION GAP

CONTINUOUS BEAD OF APPROVED SEALANT BETWEEN MEMBRANE
ROOFING AND TRANSITION FLASHING

VERTICAL RISE OVER ENDS OF ROOF PANELS

8" MIN.

EEREN

TFO01 - TRANSITION FLASHING, 12" END LAPS WITH 2
ROWS OF APPROVED SEALANT AT LAPS
MEMBRANE ROOFING, EXTEND UNDER ROOF PANELS
MIN. 24" OR UNTIL MEMBRANE HAS REACHED A 12" /

-
=
—=

e TRANSITION AT MEMBRANE ROOFING "SL175-WS-8.20
Substrate: WOOD SUBSTRATE E;c;j:tci:;:ame:
2016-0301

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.




STEP 1: FIELD NOTCH RIBS AND REMOVE

STEP 2: ENGAGE PANEL HEMMING TOOL OVER FLAT
PART OF PANEL TO ACCEPT OFFSET CLEAT

STEP 3: BEND TO FORM OPEN HEM

—_—

SEE DETAIL A-A

FIELD HEMMING PANEL END 'SL175-10.10

Substrate: Project Name:
Location:

\

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



~
|

-—— |

|

|

|

|

|

i

)

<+—9o| REMOVE HOOK

/

/ IN MALE LEG

DETAIL Al
L —____

1 ROW OF APPROVED

APPROVED TUBE SEALANT TUBE SEALANT

AT VERTICAL PANEL LEGS, DETAIL A2
ALIGNED WITH TAPE SEALANT INSTALL OFFEST CLEAT ¥ PEIAIL Ac D
N OVER1 ROWOF{'DOUBLE  —~—~—~—~~—~————————————————————
AL~ BEAD TAPE SEALANT

PANEL LAP DETAIL - STEEP SLOPE 'SL175-LAP-10.15

Substrate: Project Name:
Location:

\

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2014-0114



4 SCREWS PER ZEE MIN. OR 3" O.C.

FIELD CUT ZEE CLOSURE TO FIT
BETWEEN PANEL RIBS

INSTALL 7/8" DOUBLE BEAD BUTYL TAPE
SEALANT TO UNDERSIDE OF ZEE CLOSURE

CONT. BEAD OF APPROVED SEALANT
ADJACENT TO PANEL RIBS

\

ZEE CLOSURE INSTALLATION “SL175-10.20

Substrate: Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301




CONTINUOUS BEAD OF APPROVED
SEALANT AROUND TOP OF BOOT

S.S. PIPE CLAMP
PIPE BOOT

12-14 X 1" S.D. W/ WASHER,
1" 0.C.

MINIMUM CLEARANCE BETWEEN FLANGE
OF BOOT FLASHING AND PANEL RIBS

IMPORTANT INSTALLATION NOTE

WHEN BOOT SIZE EXCEEDS MINIMUM
CLEARANCE OF 1", REFER TO CURB DETAILS.

PANEL CLIP W/ (2)
#10 X 1" PANCAKE
FASTENERS PER
cLIP

CONTINUOUS APPROVED TUBE SEALANT
AROUND BASE OF PIPE AND SUBSTRATE
OPENING

LEAVE MIN. 1/2" CLEARANCE
AROUND PENETRATION

SET SECUREMENT RING IN CONTINUOUS
BEAD OF APPROVED TUBE SEALANT

UNION REPEL® SYNTHETIC
UNDERLAYMENT OR APPROVED
UNDERLAYMENT

WOOD SUBSTRATE

Description:

PIPE PENETRATION

Detail No.:

SL175-10.30

Substrate:

\

WOOD SUBSTRATE

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0301




IMPORTANT INSTALLATION NOTE
*WHEN BASE OF ZEE FRAME EXCEEDS MIN. VZSNNNUN L ) ISR \
CLEARANCE OF 3" REFER TO CURB DETAILS. : :

LEAVE 1/2" CLEARANCE AROUND
PENETRATION TO ALLOW FOR N oo N e
EXPANSION FOLD
ZEE CLOSURE, SET IN CONTINUOUS U
BEAD OF APPROVED TUBE SEALANT
FIELD-FORM HEMS ALLOW FOR MIN. 1/2"
1/8" x 1/7" STAINLESS RIVET, 2" 0.C. MAX. CLEARANCE AROUND
PENETRATION
APPLY CONTINUOUS BEAD OF
APPROVED TUBE SEALANT AROUND FIELD-FORM TRIM CAP TO
PERIMETER OF ZEE CLOSURE. BE INSTALLED OVER ZEE
CLOSURE FRAME

- CONTINUOUS BEAD OF APPROVED
Pre ~o SEALANT AROUND TOP OF BOOT
- AN
// \\ S.S. PIPE CLAMP
// \\ EPDM PIPE BOOT
/ \
ZEE CLOSURE, SET IN CONT. BEAD .
// OF APPROVED TUBE SEALANT \ 1214 X1"S.D. W/ WAﬁfg'
/ TRIM CAP
,l 1/8" x 1/4" STAINLESS RIVET ‘
|‘ SECURE ZEE CLOSURE WITH | \
\ RIVET, 2" O.C. MAX. | INSTALL TRIM CAP, HEMMING EDGES
\ CONT. BEAD OF APPROVED TUBE / b OVER ZEE CLOSURE
\  SEALANT AROUND PERIMETER OF / (:\\0“ EGURE TRIM GAP WITH 116" x 114"
ZEE CLOSURE / = SECU G 18" x 1/
\ STAINLESS RIVETS, 8" O.C.
\ LEAMAA n ATAS ]
\ CONTINUOUS APPROVED TUBE SEALANT
\ AROUND BASE OF PIPE AND TRIM CAP
AN
N N SET SECUREMENT RING IN CONTINUOUS
BEAD OF APPROVED SEALANT
LINE OF ZEE CLOSURE BELOW
SECTION A
e PIPE PENETRATION THROUGH PANEL RIB "SL1’
Substrate: Project Name:
Location:
\ J

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



UNION CORRUGATING CO. SL175 PANEL

STRIP IN LOW WALL FLASHING WITH FIELD COURSES OF
APPROVED UNDERLAYMENT

OCO01 - 24 GA. CONTINUOUS OFFSET CLEAT

LWO01 - CONTINUOUS LOW WALL FLASHING

CURB FRAMING SUPPLIED BY OTHER

WOOD SUBSTRATE
HWO01 - HIGHWALL COUNTER FLASHING, 4" END LAPS WITH \\ N
CONTINUOUS APPROVED SEALANT AT LAPS
N Y|
CONTINUOUS BEAD OF APPROVED SEALANT
AT PANEL LEG AND ZEE-CLOSURE =
=
ZE18 - ZEE CLOSURE FASTENED WITH N
#10-9 X 1" PANCAKE HEAD SCREW ON
CONT. ROW OF BUTYL TAPE
SINGLE LAYER OF APPROVED —
MEMBRANE UNDERLAYMENT === 1/4
X = —u
B //2 o ?2\;\*\% /
E‘/\;:“’(\O\‘\ £
O\

" LOW WALL & HIGHWALL @ SQUARE PENETRATION |’si'i75-ws-10.40

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



SW02 - SIDEWALL COUNTER FLASHING, 4" END LAPS
WITH CONTINUOUS APPROVED SEALANT AT LAPS

PANEL LEG OR FIELD FORM PANEL LEG (MIN. 1-1/4")

ZE18 - ZEE CLOSURE FASTENED WITH
#10-9 X 1" PANCAKE HEAD SCREW fr 1/8" X 1/4" STAINLESS STEEL RIVET

SINGLE LAYER OF APPROVED

CONTINUOUS ROW OF BUTYL TAPE UNDERLAYMENT

UNION CORRUGATING CO. PANEL WOOD SUBSTRATE

SIDEWALL @ SQUARE PENETRATION "o 175WS-10.41

Substrate: Project Name:

WOOD SUBSTRATE Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0301



STEP |

INSTALL PANELS
AROUND CURB.

\$‘
AT )

L!

FIELD FORM LEGS
AGAINST CURB SIDES
» MIN. 1" HIGH

S
DETAIL A1 W,

(_ ______________________ j 04?8@47

| | “o"on,

I i

I . .

I

I

I

| DETAIL A2

| o - Y _

| MALE LEG SHOWN (_ n W

| CUTBACKFOR | | |

| CLARITY ONLY | <—0| REMOVE HOOK |

| | / IN MALE LEG |

| REMOVE LOWER HOOK OF | |

I FEMALE LEG TO ALLOW I I

L OVERLAPPING PANEL CONDITIOI\_IJ L J

/ \
I
L /
"\ SEE DETAIL A1,/
N /
\\\ ///

Description:

SLI75 CURB DETAILS - STEP |

Detail No.:

SL175-CRB: 1 of 6

Substrate: Project Name:

GENERAL INFORMATION

Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0106



STEP 2

FLASHING OVER

APPLY ZEE CLOSURE

DOUBLE BEAD MASTIC

INSTALL BUTYL TAPE
EACH SIDE FOR SEAL
BETWEEN ZEE
CLOSURE AND PANEL

INSTALL ZEE CLOSURE
W/ SCREWS AT 4" O.C.

\

Description:

SLI75 CuRB DETAILS - STEP 2

Detail No.:

SL175-CRB: 2 of 6

Substrate:

GENERAL INFORMATION

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0106



STEP 3

INSTALL SIDEWALL
AND HIGH WALL FLASHINGS
ATOP ZEE CLOSURE.

SIDE WALL FLASHING
HOOK HEM ONTO
ZEE CLOSURE

FIELD FORM TABS
TO RETURN AROUND
SIDES OF CURB

N

HIGHWALL FLASHING,
HOOK HEM ONTO ZEE
CLOSURE

-

FIELD FORM TABS
TO RETURN AROUND
HIGH END OF CURB

SIDE WALL FLASHING
HOOK HEM ONTO
ZEE CLOSURE

SLI75 CURB DETAILS - STEP 3

G S
/ \
" n/ \
re)
A
70y
[
Description: Detail No.:

SL175-CRB: 3 of 6

Substrate: Project Name:

GENERAL INFORMATION

Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0106




STEP &4

INSTALL LOW
WALL FLASHING

FIELD FORM LEG
17" MIN. HEIGHT

FIELD FORM TABS
LOW WALL FLASHING

FIELD FORM LEG
12" MIN. HEIGHT

INSTALL (2) LAYERS OF MASTIC
TAPE SEALANT UNDER PERIMETER
OF LOW WALL FLASHING

APPLY SEALANT AT TRIM

770,7; LAPS TYPICAL
SLI75 CURB DETAILS - STEP 4 SL175-CRB: 4 of 6
Substete GENERAL INFORMATION rrojee fame:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0106



STEP 5

INSTALL CLEAT AND
PREPARE FOR UPPER
PANEL INSTALLATION.

INSTALL FIELD HEMMED UPPER PANELS
OVER LOW WALL FLASHING ONTO CLEAT

PANCAKE HEAD FASTENER AT
OVERLAP LOCATION

RO\

<8\}<\>

SET IN SEALANT
FASTEN AT 4" O.C.

SEALANT AT ZEE & LOW
WALL INTERSECTION
BOTH SIDES OF CURB

CONTINUOUS CLEAT

Description:

SLI75 CURB DETAILS - STEP 5

Detail No.:

SL175-CRB: 5 of 6

Substrate:

\

GENERAL INFORMATION

Project Name:
Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details.

2016-0106



STEP 6

INSTALL FINAL SEAL AND INSTALL FINAL UPPER PANEL OVER /

FASTEN AS REQUIRED. LOW WALL FLASHING ONTO CLEAT /
7

SLI75 CURB DETAILS - STEP 6 SL175-CRB: 6 of 6

Substrate: Project Name:

GENERAL INFORMATION Location:

Details and instructions subject to change without notice. Contact Union Corrugating Company for specific project details. 2016-0106



	SL175-Wood-000 COVER
	SL175-Wood-000 INDEX 1
	SL175-Wood-000 INDEX 2
	SL175-Wood-0.10
	SL175-Wood-0.20
	SL175-Wood-0.21
	SL175-Wood-0.30
	SL175-Wood-1.10
	SL175-Wood-1.10A
	SL175-Wood-1.20
	SL175-Wood-1.20A
	SL175-Wood-1.30
	SL175-Wood-1.40
	SL175-Wood-1.50
	SL175-Wood-1.60
	SL175-Wood-1.90
	SL175-Wood-2.10
	SL175-Wood-2.20
	SL175-Wood-2.30
	SL175-Wood-2.90
	SL175-Wood-3.10
	SL175-Wood-3.20
	SL175-Wood-3.90
	SL175-Wood-4.10
	SL175-Wood-4.20
	SL175-Wood-4.30
	SL175-Wood-4.40
	SL175-Wood-4.90
	SL175-Wood-4.91
	SL175-Wood-5.10
	SL175-Wood-5.20
	SL175-Wood-5.40
	SL175-Wood-6.10
	SL175-Wood-6.11
	SL175-Wood-6.12
	SL175-Wood-6.14
	SL175-Wood-6.20
	SL175-Wood-6.30
	SL175-Wood-6.90
	SL175-Wood-7.11
	SL175-Wood-7.12
	SL175-Wood-7.13
	SL175-Wood-7.21
	SL175-Wood-7.22
	SL175-Wood-7.23
	SL175-Wood-7.31
	SL175-Wood-7.32
	SL175-Wood-7.33
	SL175-Wood-7.40
	SL175-Wood-7.50
	SL175-Wood-7.90
	SL175-Wood-8.10
	SL175-Wood-8.20
	SL175-Wood-10.10
	SL175-Wood-10.20
	SL175-Wood-10.31
	SL175-Wood-10.40
	SL175-Wood-10.41
	SL175-Plywood-Square Curb Series.pdf
	SL175-Curb.pdf
	SL175-Curb A1 (1).pdf
	SL175-Curb A2 (1).pdf
	SL175-Curb A3 (1).pdf
	SL175-Curb A4 (1).pdf
	SL175-Curb A5 (1).pdf
	SL175-Curb A6 (1).pdf





